Experiencing MIS, 3e (Kroenke) 

Chapter 5: Database Processing

Multiple Choice

1) The purpose of a database is to ________.

A) use special technology to monitor a single theme

B) design, write, test, troubleshoot, and maintain the source code of computer programs

C)  use a logical data model of information to describe and build architectures

D) keep track of things that involve more than one thing

Answer:  D
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2) A ________ is a self-describing collection of integrated records.

A) datasheet

B) metadata

C) database

D) data record

Answer:  C
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3) Which of the following describes a byte?

A) a character of data

B) group of rows

C) collection of data

D) group of columns

Answer:  A
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4) Characters of data are grouped into ________.

A) bytes

B) columns

C) rows

D) records

Answer:  B
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5) Bytes are grouped into columns, which are also called ________.

A) records

B) rows

C) files

D) fields

Answer:  D
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6) Columns are grouped into ________, which are also called ________.

A) rows; records

B) fields; tables

C) tables; files

D) files; rows

Answer:  A
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7) A collection of fields is called a ________.

A) record

B) column

C) file

D) table

Answer:  A
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8) A group of similar rows or records is called a ________.

A) table

B) record

C) row

D) column

Answer:  A
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9) A table is also called a ________.

A) record

B) row

C) file

D) column

Answer:  C
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10) What is metadata?

A) data that can be used to get a clear idea of the content of a Web page

B) special data that describes the structure of a database

C) data that describes  a Web page

D) some aspect of an information resource

Answer:  B
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11) A ________ is a column or group of columns that identifies a unique row in a table.

A) field

B) byte

C) file

D) key

Answer:  D
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12) Columns that are keys of a different table than the one in which they reside are known as ________ keys.

A) foreign

B) aspect

C) relational

D) variable

Answer:  A
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13) Databases that carry their data in the form of tables are called ________ databases.

A) foreign

B) meta

C) relational

D) tabular

Answer:  C

Page Ref: 103

Difficulty:  Easy

AACSB:  Use of IT

Study Question:  Study Question 2

14) A more formal name for a table is ________.
A) metadata

B) field

C) record

D) relation

Answer:  D
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15) Data type and description are examples of ________.

A) metadata

B) a column

C) rows

D) database

Answer:  A
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16) The name of the field, the data type, and the number of characters allowed would be an example of ________.
A) character

B) key

C) metadata

D) byte

Answer:  C
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17) A(n) ________ is an assembly of forms, reports, queries, and application programs that process a database.

A) SQL server

B) metadata

C) database management system

D) database application system

Answer:  D
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18) ________ software programs assist in creating and maintaining databases.

A) Metadata

B) Knowledge management

C) DBMS

D) Database application system

Answer:  C
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19) Which of the following is a DBMS product from Microsoft?

A) MySQL

B) SQL Server

C) DB2

D) Sybase ASE

Answer:  B
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20) ________ is a popular enterprise DBMS from IBM.

A) DB2

B) Access

C) dBase

D) FoxPro

Answer:  A

Page Ref: 106

Difficulty:  Easy

AACSB:  Use of IT

Study Question:  Study Question 3

21) Database developers use the ________ to create relationships in the database.

A) DBMS

B) metadata

C) rows

D) columns

Answer:  A
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22) Which of the following is a function of the DBMS?

A) considering multiuser processing

B) mastering database application programs

C) preparing reports

D) processing the database

Answer:  D
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23) For which of the following operations do applications use DBMS?

A) send e-mails

B) write a software program

C) modify data

D) track simple data

Answer:  C
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24) ________ is an international standard language for processing a database.

A) Hypertext Markup Language

B) Dynamic HTML

C) Structured Query Language

D) Sybase

Answer:  C
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25) SQL stands for ________.
A) Standard Query Language

B) Standard Question Language

C) Structured Query Language

D) Simplified Query Language

Answer:  C
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26) During which of the following functions of a database are tools provided for assistance? 

A) creating the database

B) querying at Flextime

C) administering the database

D) processing the database

Answer:  C
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27) A ________ is a collection of reports, forms, and queries that process a database.

A) database application

B) SQL query

C) DBMS

D) database structure

Answer:  A
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28) ________ are used to read, insert, modify, and delete data.
A) Markup language codes

B) DBMS applications

C) Data entry forms

D) Application programs

Answer:  C
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29) In a typical database application, a(n) ________ shows data in a structured context.

A) application

B) entry form

C) query

D) report

Answer:  D
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30) To locate something in the database, one must type in the keyword into the ________ of the application.

A) report

B) query form

C) data entry form

D) data column

Answer:  B
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31) Which of the following is true of database application?

A) A database can have only one application, and each application may have one user.

B) It is a language that processes information in a database management system.

C) Application programs process logic that is specific to a given business need.

D) It uses hypertext markup language to process information in a database.

Answer:  C
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32) The ________ problem is unique to a multiuser database processing.

A) data integrity

B) redundancy

C) lost-update 

D) scrambled report

Answer:  C
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33) ________ process(es) large organizational and workgroup databases.

A) FoxPro

B) Personal DBMS

C) Enterprise DBMS

D) Paradox

Answer:  C
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34) Personal DBMS products are designed ________.

A) to process large organizational and workgroup databases

B) to span dozens of different magnetic disks with hundreds of gigabytes or more of data

C) to support many users and many different database applications

D) for smaller, simpler database applications

Answer:  D
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35) Which of the following is an example of enterprise DBMS?

A) Paradox

B) dBase

C) R:base

D) MySQL

Answer:  D
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36) ________ is an example of personal DBMS.

A) DB2

B) FoxPro
C) Oracle

D) MySQL

Answer:  B

Page Ref: 111

Difficulty:  Easy

AACSB:  Use of IT

Study Question:  Study Question 5

37) Which of the following stands true for enterprise DBMS products?

A) Enterprise DBMS products are designed for small and simple database applications.

B) Enterprise DBMS products support many (perhaps thousands) of users and many different database applications.

C) Paradox is an example of an enterprise DBMS product.

D) Most of the enterprise DBMS products are out of business today.

Answer:  B
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38) Which of the following stands true for personal DBMS products?

A) Personal DBMS products are designed for simple database applications.

B) Personal DBMS products support many users.

C) Personal DBMS products can manage databases that span dozens of different magnetic disks.

D) MySQL is an example of a personal DBMS product.

Answer:  A
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39) Which of the following is the most significant personal DBMS product available in the market today?

A) MS Access

B) FoxPro

C) dBase

D) Paradox

Answer:  A
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40) ________ is both a DBMS and an application development product.

A) FoxPro

B) Access

C) Oracle

D) MySQL

Answer:  B
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True or False

1) Databases are required to keep track of things that involve multiple themes.

Answer:  TRUE
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2) A database is a self-describing collection of integrated records.

Answer:  TRUE
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3) Bytes, which are characters of data, are grouped into rows, which are also called tables.

Answer:  FALSE
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4) Columns are also called fields.

Answer:  TRUE
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5) A field is a column or group of columns that identifies a unique row in a table.

Answer:  FALSE
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6) A more formal name for a table is grid.

Answer:  FALSE
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7) Relational databases have almost disappeared from use.

Answer:  FALSE
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8) The format of metadata depends on the software product that is processing the database.

Answer:  TRUE
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9) Databases are self-describing because they contain not only data, but also data about the data in the database.

Answer:  TRUE
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10) To find out what a database contains, we just look at the metadata inside the database.

Answer:  TRUE
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11) Pure database data in raw form are most pertinent and useful.

Answer:  FALSE
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12) Each of the elements of the database application system calls on the database management system (DBMS) to process the database tables.

Answer:  TRUE
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13) Most organizations develop their own DBMS.

Answer:  FALSE
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14) SQL Server is an open source DBMS product that is free for most applications.

Answer:  FALSE
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15) To modify an existing table - for example, to add a new column - the developer opens the metadata form for that table and adds a new row of metadata.

Answer:  TRUE
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16) SQL statements can be issued directly to the DBMS by an application program.

Answer:  TRUE
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17) DBMS administrative functions include backing up database data, adding structures to improve the performance of database applications, removing data that are no longer wanted or needed, and similar tasks.

Answer:  TRUE
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18) A database cannot have more than one application running on it.

Answer:  FALSE
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19) The DBMS uses a keyword form to locate records or items in the database.

Answer:  FALSE
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20) Application programs process logic that is specific to a given business need.

Answer:  TRUE
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21) One of the uses of the application program is that the application program serves as an intermediary between the Web server and the database.

Answer:  TRUE
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22) The lost-update problem can be prevented by a type of locking which must be used to coordinate the activities of users who know nothing about one another.

Answer:  TRUE
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23) Enterprise DBMS products are designed for smaller, simpler database applications.

Answer:  FALSE

Page Ref: 110

Difficulty:  Easy

AACSB:  Use of IT

Study Question:  Study Question 5

24) The bulk of databases in the personal DBMS category have multiple users.

Answer:  FALSE
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25) Today, the only remaining personal DBMS of significance is Microsoft SQL Server.

Answer:  FALSE
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Essay

1) What are the differences between a spreadsheet and a database?

Answer:  The purpose of both, a spreadsheet and a database is to keep track of things. However, unlike a spreadsheet, a database offers the solution of being able to keep track of more than one type of data. If the structure of a list is simple enough, there is no need to use database technology. However, lists that involve multiple themes require a database. 
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2) Describe the contents of a database.

Answer:  A database is a self-describing collection of integrated records that is organized based on a hierarchy of data elements. A byte is a character of data. Bytes are grouped into columns. Columns are also called fields. A key is a column or group of columns that identifies a unique row in a table. Columns that are keys of a different table than the one in which they reside are called foreign keys. Columns or fields, in turn, are grouped into rows, which are also called records. Finally, a group of similar rows or records is called a table or a file. A database contains, within itself, a description of its contents. Metadata are data that describe data.

Thus, a database is a collection of tables plus relationships among the rows in those tables, plus special data, called metadata, that describes the structure of the database.
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3) What are relational databases?

Answer:  Databases that carry their data in the form of tables that represent relationships using foreign keys are called relational databases. Foreign keys are columns that are keys of a different table than the one in which they reside. (The term relational is used because another, more formal name for a table is relation.) In the past, there were databases that were not relational in format, but such databases have nearly disappeared.

Page Ref: 103

Difficulty:  Easy

AACSB:  Use of IT

Study Question:  Study Question 2

4) Describe the usefulness of metadata.

Answer:  A database is self-describing in that it contains, within itself, a description of its contents. This is because it contains not only data, but also data about the data in the database. This data is known as metadata. It is the presence of metadata that makes databases much more useful than spreadsheets or data in other lists. Because of metadata, no one needs to guess, remember, or even record what is in the database. To find out what a database contains, we just look at the metadata inside the database.
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5) What is the function of a database application system?

Answer:  A database, all by itself, is not very useful. Pure database data are correct, but in raw form they are not pertinent or useful. A database application system makes database data more accessible and useful. Users employ a database application that consists of forms, formatted reports, queries, and application programs. Each of these, in turn, calls on the database management system (DBMS) to process the database tables.
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6) Explain database management systems.

Answer:  A database management system (DBMS) is a program used to create, process, and administer a database. A DBMS is different from a database in that a DBMS is a software program while a database is a collection of tables, relationships, and metadata.

Almost no organization develops its own DBMS. Instead, companies license DBMS products from vendors such as IBM, Microsoft, Oracle, and others. Popular DBMS products are DB2 from IBM, Access and SQL Server from Microsoft, and Oracle from the Oracle Corporation. Another popular DBMS is MySQL, an open-source DBMS product that is free for most applications.
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7) How does one create a database and its structures?

Answer:  Database developers use the DBMS to create tables, relationships, and other structures in the database. A form is used to define a new table or to modify an existing one. To create a new table, the developer just fills out a new form.

To modify an existing table–for example, to add a new column–the developer opens the metadata form for that table and adds a new row of metadata. For example, the developer adds a new column called "Response?" to a table. This new column has the data type Yes/No, which means that the column can contain only one of the values–Yes or No. The person using this form will use this column to indicate whether he/she has responded to the student's email. Other database structures are defined in similar ways.
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8) Describe the functions of a database management system.

Answer:  A database management system (DBMS) is a program used to create, process, and administer a database.

a. Database developers use the DBMS to create tables, relationships, and other structures in the database. To create a new table, the developer just fills out a new form. To modify an existing table—for example, to add a new column—the developer opens the metadata form for that table and adds a new row of metadata. 

b. The second function of the DBMS is to process the database. Applications use the DBMS for four operations: to read, insert, modify, or delete data. The applications call upon the DBMS in different ways. From a form, when the user enters new or changed data, a computer program that processes the form calls the DBMS to make the necessary database changes. From an application program, the program calls the DBMS directly to make the change.

c. A third DBMS function is to provide tools to assist in the administration of the database. Database administration involves a wide variety of activities. For example, the DBMS can be used to set up a security system involving user accounts, passwords, permissions, and limits for processing the database.

d. In addition to security, DBMS administrative functions include backing up database data, adding structures to improve the performance of database applications, removing data that are no longer wanted or needed, and similar tasks.
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9) Define SQL.
Answer:  Structured Query Language (SQL) is an international standard language for processing a database. All DBMS products accept and process SQL statements. One need not understand or remember SQL language syntax. Instead, realize that SQL is an international standard for processing a database. Also, SQL can be used to create databases and database structures.
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10) What is a database application?

Answer:  A database application is a collection of forms, reports, queries, and application programs that process a database. A database may have one or more applications, and each application may have one or more users. These applications have different purposes, features, and functions, but they all process the same inventory data stored in a common database.
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11) Briefly describe the elements of a database application.

Answer:  A database application is a collection of forms, reports, queries, and application programs that process a database. Data entry forms are used to read, insert, modify, and delete data. Reports show data in a structured context. DBMS programs provide comprehensive and robust features for querying database data. The DBMS provides a facility to type in a keyword into a query form to find what one is looking for. 

There are also database application programs for applications that have unique requirements that a simple form, report, or query cannot meet.
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12) How are database application programs useful?

Answer:  Most applications have unique requirements that a simple form, report, or query cannot meet. In such cases, data application programs come into play. Application programs process logic that is specific to a given business need, and enable database processing over the Internet. For this use, the application program serves as an intermediary between the Web server and the database. The application program responds to events, such as when a user presses a submit button; it also reads, inserts, modifies, and deletes database data.

Page Ref: 109

Difficulty:  Moderate

AACSB:  Use of IT

Study Question:  Study Question 4

13) How can one prevent the lost-update problem of multiuser processing?

Answer:  The lost-update problem exemplifies one of the special characteristics of multiuser database processing. To prevent this problem, some type of locking must be used to coordinate the activities of users who know nothing about one another.
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14) Explain enterprise DBMS products.

Answer:  DBMS products fall into two broad categories. One of these categories is enterprise DBMS products that process large organizational and workgroup databases. These products support many (perhaps thousands) of users and many different database applications. Such DBMS products support 24/7 operations and can manage databases that span dozens of different magnetic disks with hundreds of gigabytes or more of data. IBM's DB2, Microsoft's SQL Server, and Oracle's Oracle are examples of enterprise DBMS products.
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15) What are personal DBMS products?

Answer:  DBMS products fall into two broad categories. One of these categories is personal DBMS products which are designed for smaller, simpler database applications. Such products are used for personal or small workgroup applications that involve fewer than 100 users, and normally fewer than 15. In fact, the great bulk of databases in this category have only a single user. In the past, there were many personal DBMS products - Paradox, dBase, R:base, and FoxPro. Today, the only remaining personal DBMS of significance is Microsoft Access.
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Experiencing MIS, 3e (Kroenke) 

Chapter 8: E-Commerce, Web 2.0, and Social Networking

Multiple Choice

1) E-commerce is the buying and selling of goods and services ________.

A) over private and public computer networks

B) in restricted markets using cyber intermediaries

C) using intermediaries such as dealer and agents

D) that cannot be sold via traditional distribution channels

Answer:  A
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2) Which of the following has enabled thin-client applications to have considerable functionality?

A) increase in the number of users

B) increase in user-generated content

C) increased capabilities of browsers

D) increased communication between client and server

Answer:  C
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3) Which of the following is true of Web 2.0?

A) It is a primitive interorganizational information system.

B) It is supported by telephones, faxes, and EDIs.

C) Its supporting technologies include HTTP and HTML.

D) It makes use of user-generated content and is flexible.

Answer:  D
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4) Which of the following was a supporting technology of pre-Internet systems?

A) EDI

B) SOA

C) HTML

D) Flash

Answer:  A
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5) ________ is the application of Web 2.0 technologies, collaboration systems, social networking, and related technologies to facilitate the cooperative work of intellectual workers in organizations. 

A) Enterprise architecture

B) Enterprise resource planning

C) Enterprise 2.0

D) Enterprise application integration

Answer:  C
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6) ________ is a key principle of Enterprise 2.0.
A) Transcendence

B) Divergence

C) Emergence

D) Dependence

Answer:  C
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7) Which of the following is true of Social CRM?

A) Relationships between vendors and buyers are predefined.

B) Customers control their relationships with the company.

C) Organizations offer very few customer touch points.

D) Service-oriented architecture has impeded Social CRM.

Answer:  B
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8) What is service-oriented architecture?

A) It is the structure of an organization that heavily emphasizes the importance of superior customer service.

B) It is a software design methodology related to interorganizational program-to-program communication.

C) It is the investment in vendor-customer relationships with the expectation of returns in the marketplace.

D) It is a content structure that has emerged from the processing of many user tags.

Answer:  B
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9) The U.S. Census Bureau defines ________ as companies that take title to the goods they sell.

A) merchant companies

B) electronic exchanges

C) clearinghouses

D) auctions

Answer:  A
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10) Nonmerchant companies ________.

A) take title to the goods they sell

B) sell services that they provide

C) include B2C, B2B, and B2G transactions

D) arrange for the purchase and sale of goods

Answer:  D
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11) Sales between a supplier and a retail consumer are ________ transactions. 

A) B2C

B) B2B

C) B2G

D) C2C

Answer:  A
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12) Jackson Enterprises sells products online to the state-run Environmental Protection Agency. This is a ________ transaction.

A) B2B

B) B2C

C) B2G

D) C2C

Answer:  C
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13) Amazon.com, REI.com, and LLBean.com are examples of companies that use ________ information systems.

A) B2E

B) B2B

C) B2G

D) B2C

Answer:  D
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14) In a typical distribution system, raw material suppliers sell to manufacturers, manufactures sell to distributors, and distributors sell to retailers. All these transactions are categorized as ________ transactions.

A) B2C

B) B2B

C) C2C

D) B2E

Answer:  B

Page Ref: 186

Difficulty:  Moderate

Study Question:  Study Question 2

15) Traditional B2C information systems rely on a(n) ________ that customers use to enter and manage their orders.

A) auction forum

B) electronic exchange

C) clearinghouse

D) Web storefront

Answer:  D
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16) Which of the following nonmerchant e-commerce companies supports a competitive bidding process?

A) auctions

B) clearinghouses

C) B2C firms

D) mashups

Answer:  A
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17) ________ provide goods and services at a stated price and arrange for the delivery of the goods, but they never take title.

A) Auctions

B) E-markets

C) Cyberstores

D) Clearinghouses

Answer:  D
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18) Using e-commerce to buy directly from the manufacturer eliminates the middlemen in the supply chain. Which of the following terms best explains this elimination?

A) deliberation

B) mashup

C) clearinghouse

D) disintermediation

Answer:  D
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19) ________ measure(s) the amount that demand rises or falls with changes in price. 

A) Price ceilings

B) Price fixing

C) Price per earning ratio

D) Price elasticity

Answer:  D
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20) When a business engages in e-commerce, the manufacturer may be able to offer a lower price and still make a profit, which may cause price conflicts with its traditional channel members. The ability of the manufacturer to offer a lower price and still make a profit is largely attributed to ________.

A) emergence

B) price elasticity

C) disintermediation

D) channel conflict

Answer:  C
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21) When HP Computers began to sell directly to the public, some retailers resented the competition and stopped carrying HP products in their stores. This is an example of ________.

A) reintermediation

B) channel conflict

C) mashups

D) the bullwhip effect

Answer:  B
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22) Which of the following expenses are likely to increase for manufacturers who use e-commerce to sell directly to consumers?

A) procurement expenses

B) advertising expenses

C) production expenses

D) customer-service expenses

Answer:  D
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23) Web 2.0 companies ________.

A) sell software licenses

B) offer their software as a product

C) provide software as a free service

D) lock down all the legal rights they can

Answer:  C
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24) Web 2.0 applications ________.

A) must be installed on users' computers

B) are thick clients

C) have infrequent, controlled releases

D) are downloaded as Silverlight code

Answer:  D
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25) Traditional software companies rely on ________ for revenue
A) software license fees

B) advertising 

C) interest

D) commissions

Answer:  A
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26) In the Web 2.0 world, the value of a site increases ________.

A) over time

B) exponentially

C) as the investments in it increase

D) with users and use

Answer:  D
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27) In the Web 2.0 world, no marketing is done. New product features are released and vendors wait for users to spread the news to one another, one friend sending a message to many friends; most of whom send that message, in turn, to their friends; and so forth, in a process called ________.

A) affiliate marketing

B) viral marketing

C) co-marketing

D) network marketing

Answer:  B
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28) On some sites, users can provide customer support to one another, or even participate in the creation of product specifications, designs, and complete products in a process called ________. 

A) social capitalization

B) mashing up

C) crowdsourcing

D) electronic exchanging

Answer:  C
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29) Traditional sites are about ________; Web 2.0 is about ________. 

A) publishing; participation

B) mash ups; crowdsourcing

C) organic experiences; controlled experiences

D) B2C e-commerce; B2B e-commerce

Answer:  A
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30) When the output from two or more Web sites is combined into a single user experience it is called a(n)________. 

A) social network

B) mashup

C) crowdsource

D) electronic exchange

Answer:  B
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31) Google pioneered Web 2.0 advertising. With its ________ software, vendors pay Google a certain amount for particular search words.

A) AdSense

B) Adware

C) AdWords

D) AdCap

Answer:  C
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32) A(n) ________ is a structure of individuals and organizations that are related to each other in some way. 

A) folksonomy

B) electronic exchange

C) social network

D) crowdsource

Answer:  C
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33) Karl Marx defined ________ as the investment of resources for future profit. 

A) capital

B) business

C) equity

D) returns

Answer:  A
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34) Which of the following is an example of human capital?

A) time and energy

B) factories and machines

C) knowledge and skills

D) social relationships

Answer:  C

Page Ref: 193

Difficulty:  Moderate

Study Question:  Study Question 4

35) Being linked to a network of highly regarded contacts is a form of social ________.

A) credential
B) consciousness

C) mobility

D) commerce

Answer:  A
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36) Which of the following is true about social capital?

A) Social capital is the investment in human knowledge and skills for future profit.

B) The people you know the least contribute the most connections to your network.

C) Social capital can be gained by limiting ones friends but strengthening the relationships with them.

D) Strong relationships contribute the most to the growth of social capital.

Answer:  B
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37) A ________ is a content structure that has emerged from the processing of many user tags.

A) metalanguage

B) mashup

C) folksonomy

D) bookmark

Answer:  C
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38) Which of the following are the characteristics of Enterprise 2.0, according to McAfee?

A) search, links, authoring, tags, extensions, signals

B) speed, LAN, auctions, tags, e-commerce, social capital

C) SOA, LAN, advertising, tags, electronic-exchange, SAAS

D) UGC, SOA, tags, extensions, signals, social CRM

Answer:  A
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39) According to McAfee, Enterprise 2.0 workers want applications that enable them to rate tagged content and to use the tags to predict content that will be of interest to them. This refers to which of the following characteristics of Enterprise 2.0?

A) search 

B) authoring

C) signals

D) extensions

Answer:  D
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40) In Enterprise 2.0, pushing enterprise content to users based on subscriptions and alerts is part of ________, according to McAfee's Enterprise 2.0 model. 

A) signaling

B) authoring

C) tagging

D) searching

Answer:  A
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True or False

1) E-commerce is the buying and selling of goods and services exclusively over public computer networks.

Answer:  FALSE
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2) Merchant companies sell services provided by others.

Answer:  FALSE
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3) In B2C e-commerce, sales are made between companies.

Answer:  FALSE
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4) An electronic exchange is an example of a merchant company.

Answer:  FALSE
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5) Gateway Corp. eliminated all its channel members and now sells directly to the public over the Internet. This is an example of disintermediation.

Answer:  TRUE
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6) Disintermediation reduces market efficiency.

Answer:  FALSE
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7) Managing prices by direct interaction with the customer yields better information than managing prices by watching competitors' pricing.

Answer:  TRUE
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8) Without distribution and retailing partners, manufacturer who engages in e-commerce will have the increased logistics expense of entering and processing orders in small quantities.

Answer:  TRUE
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9) Customer service expenses are likely to decrease for manufacturers that use e-commerce to sell directly to consumers.

Answer:  FALSE
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10) Google, Amazon.com, and eBay exemplify Web 2.0. because they sell software licenses instead of providing software as a free service.

Answer:  FALSE
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11) In the case of traditional software vendors, extensive testing and true beta programs precede every product release.

Answer:  TRUE
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12) Traditional software companies use the term software as a service to mean that they will provide their software products via the cloud.

Answer:  TRUE
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13) Reviews form the bulk of user-generated content.

Answer:  TRUE
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14) Crowdsourcing combines social networking, viral marketing, and open-source design, saving considerable cost while cultivating customers. 

Answer:  TRUE
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15) Web 2.0 companies lock down all the legal rights they can.

Answer:  FALSE
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16) Not all business information systems benefit from flexibility and organic growth offered by Web 2.0.

Answer:  TRUE
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17) Social capital is the investment in social relations with the expectation of returns in the marketplace.

Answer:  TRUE
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18) Social capital adds value through information, influence, social credentials, and personal reinforcement.

Answer:  TRUE
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19) Strong relationships contribute the most to the growth of social networks.

Answer:  FALSE
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20) According to Henk Flap, the value of social capital is determined by the number of relationships in a social network, by the strength of those relationships, and by the resources controlled by those related. 

Answer:  TRUE
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21) Historically, organizations have created social capital via salespeople, via customer support, and via public relations.

Answer:  TRUE
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22) With Social CRM, business control the messages, offers, and support that customers receive based on the value of the customer.

Answer:  FALSE
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23) According to McAfee, Enterprise 2.0 workers want to be able to navigate content structures such as lists and tables of content.

Answer:  FALSE

Page Ref: 198

Difficulty:  Easy

AACSB:  Use of IT

Study Question:  Study Question 5

24) Enterprise 2.0 content is tagged differently from the content on the Web.

Answer:  FALSE
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25) In Social CRM, relationships between organizations and customers are predefined.

Answer:  FALSE
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Essay

1) What is e-commerce?

Answer:  E-commerce is the buying and selling of goods and services over public and private computer networks. E-commerce became feasible with the creation and widespread use of HTTP, HTML, and server applications such as Web storefronts that enabled browser-based transactions. E-commerce was not only faster than pre-Internet commerce, it also brought vendors closer to their customers, and in the process changed market characteristics and dynamics.
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2) What is Enterprise 2.0?

Answer:  Enterprise 2.0 is the application of Web 2.0 technologies, collaboration systems, social networking, and related technologies to facilitate the cooperative work of intellectual workers in organizations. Emergence is a key principle of Enterprise 2.0. Neither relationships nor ideas nor projects are predefined. Instead, they emerge as a result of collaboration via social networking. 
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3) What is meant by service-oriented architecture (SOA)?

Answer:  Enterprise 2.0 and Social CRM have given a boost to service-oriented architecture (SOA), which is a software design methodology and set of program communication standards that greatly improve the flexibility and adaptability of interorganizational program-to-program communication. SOA standards are meta, metadata. They are standards for defining how interprogram communication metadata are to be created.

Page Ref: 185

Difficulty:  Moderate

AACSB:  Use of IT

Study Question:  Study Question 1

4) What is an e-commerce auction? Give an example of an e-commerce company.

Answer:  E-commerce auctions match buyers and sellers by using an e-commerce version of a standard auction. This e-commerce application enables the auction company to offer goods for sale and to support a competitive-bidding process. The best-known auction company is eBay, but many other auction companies exist; many serve particular industries.
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5) What is a clearinghouse? Explain with the help of an example.

Answer:  Clearinghouses provide goods and services at a stated price and arrange for the delivery of the goods, but they never take title. As a clearinghouse, Amazon.com matches the seller and the buyer and then takes payment from the buyer and transfers the payment to the seller, minus a commission. eBay operates in the same manner. Another type of clearinghouse is an electronic exchange that matches buyers and sellers; the business process is similar to that of a stock exchange. Sellers offer goods at a given price through the electronic exchange, and buyers make offers to purchase over the same exchange. Price matches result in transactions from which the exchange takes a commission.
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6) What is disintermediation?

Answer:  Disintermediation is the elimination of the middle layers within a supply chain. This means that the manufacturer eliminates the distributors, wholesalers, and retailer by selling directly to the consumers. This eliminates inventory-carrying costs, shipping overhead, and handling activity. Because the distributor and associated inventories have become unnecessary waste, disintermediation increases market efficiency.
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7) How is e-commerce related to price elasticity?

Answer:  From the seller's side, e-commerce produces information about price elasticity that has not been available before. Price elasticity measures the amount that demand rises or falls with changes in price. Using an auction, a company can learn not just what the top price for an item is, but also the second, third, and other prices from the losing bids. In this way, the company can determine the shape of the price elasticity curve. Similarly, e-commerce companies can learn price elasticity directly from experiments on customers. 
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8) What kind of marketing is used for Web 2.0 applications?

Answer:  In the Web 2.0 world, new product features are released and vendors wait for users to spread the news to one another, one friend sending a message to many friends; most of whom send that message, in turn, to their friends; and so forth, in a process called viral marketing. Users carry the message to one another. In fact, if a product requires advertising to be successful, then it is not a Web 2.0 product.
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9) What are mashups? Explain with the help of an example?

Answer:  Web 2.0 encourages mashups, which result when the output from two or more Web sites is combined into a single user experience. Google's My Maps is an excellent mashup example. Google publishes Google Maps and provides tools for users to make custom modifications to those maps. Thus, users mash the Google map product with their own knowledge. In Web 2.0 fashion, Google provides users a means for sharing their mashed-up map over the Internet and then indexes that map for Google search.
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10) How does social capital add value?

Answer:  Relationships in social networks can provide information about opportunities, alternatives, problems, and other factors important to business professionals. They also provide an opportunity to influence decision makers in one's employer or in other organizations who are critical to your success. Such influence cuts across formal organizational structures such as reporting relationships. Third, being linked to a network of highly regarded contacts is a form of social credential.  Finally, being linked into social networks reinforces a professional's image and position in an organization or industry.
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11) How is the value of social capital determined? 

Answer:  The value of social capital is determined by the number of relationships in a social network, by the strength of those relationships, and by the resources controlled by those related.
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12) What are the six characteristics of Enterprise 2.0?

Answer:  McAfee defined six characteristics of Enterprise 2.0, which he refers to by the acronym SLATES  acronym. Workers want to be able to search for content inside the organization just like they do on the Web. Most workers find that searching is more effective than navigating content structures such as lists and tables of content. Workers want to access organizational content by link, just as they do on the Web. They also want to author organizational content using blogs, wikis, discussion groups, published presentations, and so forth. Enterprise 2.0 content is tagged, just like content on the Web, and tags are organized into structures. Additionally, Enterprise 2.0 workers want applications to enable them to rate tagged content and to use the tags to predict content that will be of interest to them, a process McAfee refers to as extensions. Finally, Enterprise 2.0 workers want relevant content pushed to them; they want to be signaled when something of interest to them happens in organizational content.
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13) What is a folksonomy?

Answer:  Enterprise 2.0 content is tagged, just like content on the Web, and tags are organized into structures. These structures organize tags as a taxonomy does, but, unlike taxonomies, they are not preplanned; they emerge. A folksonomy is a content structure that has emerged from the processing of many user tags.
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14) What is Social CRM?

Answer:  Social CRM is customer relationship management done in the style of Enterprise 2.0. The relationships between organizations and customers emerge as both parties create and process content. In addition to the traditional forms of promotion, employees in the organization create wikis, blogs, discussion lists, FAQs, sites for user reviews and commentary, and other dynamic content. Customers search this content, contribute reviews and commentary, tag content, ask more questions, create user groups, and so forth. With Social CRM, each customer crafts its own relationship with the company.
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15) What is the difference between traditional CRM and Social CRM?

Answer:  In Social CRM, because relationships emerge from joint activity, customers have as much control as companies. This characteristic is anathema to traditional sales managers who want control over what the customer is reading, seeing, and hearing about the company and its products. Further, traditional CRM is centered on lifetime value; customers who are likely to generate the most business get the most attention and have the most impact on the organization. But, with Social CRM, the customer who spends 10 cents but who is an effective reviewer, commentator, or blogger can have more influence than the quiet customers who purchase $10 million a year. Such imbalance is incomprehensible to traditional sales managers.
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Experiencing MIS, 3e (Kroenke) 

Chapter 9:  Business Intelligence and Information Systems for Decision Making

Multiple Choice

1) ________ is information containing patterns, relationships, and trends.

A) Technical writing

B) Raw data

C) Business intelligence

D) Internal communication

Answer:  C
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2) One ________ is equal to 103 bytes.

A) petabyte

B) gigabyte

C) megabyte

D) kilobyte

Answer:  D
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3) A type written page is about 2 ________.

A) megabytes

B) kilobytes

C) terabytes

D) petabytes

Answer:  B
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4) One megabyte is equal to ________ bytes.

A) 1,000

B) 1,000,000,000

C) 1,000,000,000,000

D) 1,000,000

Answer:  D
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5) How many bytes make up 1 gigabyte?

A) 109

B) 1012

C) 1015

D) 1018

Answer:  A
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6) ________ bytes equal one terabyte.

A) 1,000

B) 1,000,000

C) 1,000,000,000,000

D) 1,000,000,000

Answer:  C
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7) A petabyte consists of ________ bytes.

A) 109

B) 1012

C) 1015

D) 1018

Answer:  C
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8) One ________ is equal to 1018 bytes

A) megabyte

B) gigabyte

C) exabyte

D) terabyte

Answer:  C
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9) ________ systems integrate data from multiple sources, and they process that data by sorting, grouping, summing, averaging, and comparing.

A) Knowledge management

B) Data-mining

C) Expert

D) Reporting

Answer:  D
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10) Reporting systems improve decision making by ________.

A) providing the right information to the right user at the right time

B) discovering patterns and relationships in data to predict future outcomes

C) fostering innovation and improving customer service

D) encoding, saving, and processing expert knowledge

Answer:  A
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11) Decision tree analysis is a technique used by ________ systems.

A) knowledge management

B) data-mining

C) reporting

D) expert

Answer:  B
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12) ________ systems improve decision making by using the discovered patterns and relationships to anticipate events or to predict future outcomes.

A) Knowledge management

B) Expert

C) Reporting

D) Data-mining

Answer:  D
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13) ________ compute(s) the correlation of items on past orders to determine items that are frequently purchased together.

A) Market-basket analysis

B) Knowledge management systems

C) Expert systems

D) Clickstream data

Answer:  A
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14) The advantage that ________ have over the other systems is that these foster innovation, improve customer service, increase organizational responsiveness, and reduce costs.

A) reporting systems

B) expert systems

C) data mining systems

D) knowledge management systems

Answer:  D
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15) Which of the following systems use If/Then rules?

A) data-mining systems

B) knowledge-management systems

C) expert systems

D) reporting systems

Answer:  C
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16) If Patient_Temperature > 103, Then Initiate High_Fever–Procedure. This sort of a rule is most likely to be found in a(n) ________ system.

A) expert

B) knowledge management

C) operational

D) reporting

Answer:  A
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17) Problematic data are termed as ________.

A) rough data

B) clickstream data

C) granular data

D) dirty data

Answer:  D
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18) WhyMe@GuessWhoIAM.org is an example of ________.

A) dirty data

B) coarse data

C) inconsistent data

D) fine data

Answer:  A
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19) Which of the following is a problem commonly associated with operational data that have been gathered over time?

A) too fine

B) nonintegrated

C) inconsistent

D) missing values

Answer:  C
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20) ________ refer(s) to the degree of summarization or detail.

A) Data abstraction

B) Data granularity

C) Gross data

D) Data aggregation

Answer:  B
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21) ________ data is highly summarized.

A) Coarse

B) Missing

C) Clickstream

D) Dirty

Answer:  A
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22) Clickstream data is ________.

A) inconsistent

B) too coarse

C) too fine

D) dirty data

Answer:  C
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23) Generally, it is better to have data that is ________ than data that is ________.

A) random; specific

B) inconsistent; unintegrated

C) too fine; too coarse

D) problematic; dirty

Answer:  C
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24) The more attributes there are, the easier it is to build a model that fits the sample data but that is worthless as a predictor. Which of the following best explains this phenomenon?

A) the free rider problem

B) the curse of dimensionality

C) the tragedy of the commons

D) the zero-sum game

Answer:  B
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25) A ________ is a company that obtains data from public and private sources and stores, combines, and publishes it in sophisticated ways.

A) data aggregator

B) data harvester

C) data center

D) date warehouse

Answer:  A
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26) The purpose of a ________ is to extract and clean data from operational systems and other sources, and to store and catalog that data for processing by BI tools.

A) data harvester

B) data center

C) data aggregator

D) data warehouse

Answer:  D
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27) Which of the following is true for data warehouses?

A) Data are stored in a data warehouse database using a data warehouse DBMS.

B) Data warehouses are prohibited from purchasing data from outside sources.

C) User-generated content applications generate potentially large amounts of data.

D) Purchased data is more accurate than data collected directly from clients.

Answer:  A

Page Ref: 214-215

Difficulty:  Moderate

AACSB:  Use of IT

Study Question:  Study Question 4

28) The facts about data, such as its source, format, assumptions, constraints, and the like, are called ________.

A) metadata

B) folksonomies

C) microdata

D) data packets

Answer:  A

Page Ref: 215

Difficulty:  Easy

AACSB:  Use of IT

Study Question:  Study Question 4

29) A ________ is a data collection that is created to address the needs of a particular business function, problem, or opportunity.

A) data mart

B) data harvester

C) data mine

D) data warehouse

Answer:  A
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30) ________ are comparable to distributors in a supply chain because they take data from the data manufacturers, clean and process the data, and locate the data on the disks of its computers.

A) Database servers

B) Data marts

C) Data warehouses

D) Data harvesters

Answer:  C

Page Ref: 216

Difficulty:  Moderate

AACSB:  Use of IT

Study Question:  Study Question 5

31) ________ is the application of statistical techniques to find patterns and relationships among data and to classify and predict.

A) Data encryption

B) Data warehousing

C) Data mining

D) Data compression

Answer:  C
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32) Which term is used as a synonym for data mining?

A) OLAP

B) neural networks

C) market-basket analysis

D) knowledge discovery in databases

Answer:  D
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33) In unsupervised data mining ________.

A) analysts do not create a model or hypothesis before running the analysis

B) analysts apply statistical techniques to data to estimate parameters of a model

C) analysts use tools such as regression analysis

D) analysts fit data to suggested hypotheses

Answer:  A
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34) In ________, statistical techniques identify groups of entities that have similar characteristics. 

A) cluster analysis

B) neural networks

C) regression analysis

D) curve fitting

Answer:  A
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35) Which of the following is a common unsupervised data-mining technique?

A) cluster analysis

B) regression analysis

C) neural networking

D) market-basket analysis

Answer:  A
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36) With ________ data mining, data miners develop a model prior to the analysis and apply statistical techniques to data to estimate parameters of the model.

A) cluster

B) supervised

C) clickstream

D) unsupervised

Answer:  B

Page Ref: 218

Difficulty:  Moderate

AACSB:  Use of IT

Study Question:  Study Question 6

37) Regression analysis is used in ________.

A) expert systems

B) knowledge management systems

C) data-mining systems

D) reporting systems

Answer:  C
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38) ________ measures the impact of a set of variables on another variable.

A) Cluster analysis

B) Neural networking

C) Granularity

D) Regression analysis

Answer:  D
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39) Which of the following data-mining techniques is used to predict values and make classifications, such as "good prospect" or "poor prospect" customers?

A) cluster analysis

B) neural networks

C) market basket analysis

D) regression analysis

Answer:  B
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True or False

1) 1,000,000 bytes equal one gigabyte.

Answer:  FALSE
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2) One kilobyte consists of 1,000 bytes.

Answer:  TRUE
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3) A terabyte is larger than a petabyte in terms of computer storage.

Answer:  FALSE
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4) A typical low-resolution photograph is equal to 1 terabyte.

Answer:  FALSE
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5) Data-mining systems integrate data from multiple sources, processing it by sorting, grouping, and averaging, and delivering reports on the results.

Answer:  FALSE
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6) Reporting systems compute correlations of items on past orders in order to determine items that were frequently purchased together.

Answer:  FALSE
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7) Market-basket analysis is a data mining system.

Answer:  TRUE
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8) Knowledge-management systems follow If/Then rules.

Answer:  FALSE
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9) Expert systems encapsulate the knowledge of human experts in the form of If/Then rules.

Answer:  TRUE
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10) Raw operational data is seldom suitable for more sophisticated reporting or data mining. 

Answer:  TRUE
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11) Data that are critical for successful operations must be complete and accurate, however data that are only marginally necessary do not need to be.

Answer:  TRUE
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12) Data granularity refers to the degree of detail of the data.

Answer:  TRUE

Page Ref: 213

Difficulty:  Easy

AACSB:  Use of IT

Study Question:  Study Question 3

13) Generally, it is better to have data that is too coarse a granularity than data that is too fine. 

Answer:  FALSE
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14) The curse of dimensionality states that the more attributes there are, the more difficult it is to build a model that fits the sample data but the more relevant it is as a predictor.

Answer:  FALSE
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15) Data warehouses extract and clean data from operational systems.

Answer:  TRUE
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16) An organization's data warehouse DBMS cannot be different from the organization's operational DBMS.

Answer:  FALSE
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17) Data warehouses cannot purchase external data from outside resources.

Answer:  FALSE
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18) Data from social networking and user-generated content applications are likely be more accurate than purchased data. 

Answer:  TRUE
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19) Data marts are data collections that address a particular business problem or opportunity.

Answer:  TRUE
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20) Data marts are usually larger than data warehouses.

Answer:  FALSE
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21) Data warehouses and data marts are expensive to create, staff, and operate.

Answer:  TRUE
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22) KDD is synonymous with data mining.

Answer:  TRUE
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23) With unsupervised data mining, analysts do not create a model or hypothesis before running the analysis.

Answer:  TRUE
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24) Regression analysis is used to find groups of similar customers from customer order and demographic data.

Answer:  FALSE
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25) Cluster analysis measures the impact of one set of variables on another variable.

Answer:  FALSE
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26) Cluster analysis and neural networks are examples of supervised data mining techniques.

Answer:  FALSE
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Essay

1) What is the difference between a megabyte and a gigabyte?

Answer:  A gigabyte is a bigger than a megabyte. A megabyte is equal to 1,000,000 bytes while a gigabyte equals 1,000,000,000 bytes. 
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2) What is a business intelligence system?

Answer:  A business intelligence (BI) system is an information system that provides information for improving decision making. BI systems vary in their characteristics and capabilities and in the way they foster competitive advantage. There are four categories of BI systems: reporting systems, data mining systems, knowledge management systems, and expert systems. 
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3) Describe the characteristics and advantages of reporting systems.

Answer:  Reporting systems integrate data from multiple sources, and they process that data by sorting, grouping, summing, averaging, and comparing. Such systems format the results into reports and deliver those reports to users. Reporting systems improve decision making by providing the right information to the right user at the right time.
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4) Explain the characteristics and advantages of data mining systems.

Answer:  Data mining systems process data using sophisticated statistical techniques, such as regression analysis and decision tree analysis. Data mining systems find patterns and relationships that cannot be found by simpler reporting operations, such as sorting, grouping, and averaging. Data mining systems improve decision making by using the discovered patterns and relationships to anticipate events or to predict future outcomes.

Market-basket analysis is a data mining system, which computes correlations of items on past orders to determine items that are frequently purchased together.
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5) What are the characteristics and advantages of knowledge management systems?

Answer:  Knowledge management (KM) systems create value from intellectual capital by collecting and sharing human knowledge of products, product uses, best practices, and other critical knowledge with employees, managers, customers, suppliers, and others who need it. It improves decisions by publishing employee and others' knowledge. This system creates value from existing intellectual capital and fosters innovation, improves customer service, increases organizational responsiveness, and reduces costs.
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6) Write a brief note on the characteristics and advantages of expert system.

Answer:  Expert systems encapsulate the knowledge of human experts in the form of If/Then rules and process those rules to make a diagnosis or recommendation. These systems improve decision making by nonexperts by encoding, saving, and processing expert knowledge. Although few expert systems have demonstrated a capability equivalent to a human expert, some are good enough to considerably improve the diagnosis and decision making of nonexperts.
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7) What is dirty data?

Answer:  Data from transaction processing and other operational systems can be processed to create basic reports without problem. However, raw operational data is seldom suitable for more sophisticated reporting or data mining. First, although data that are critical for successful operations must be complete and accurate, data that are only marginally necessary do not need to be. For example, some systems gather demographic data in the ordering process. But because such data are not needed to fill, ship, and bill orders, their quality suffers. Such problematic data is known as dirty data.

Examples of dirty data are values of B for customer gender and of 213 for customer age. Other examples are a value of 999-999-9999 for a U.S. phone number, a part color of green, and an email address of WhyMe@GuessWhoIAM.org. All of these values can be problematic for data mining purposes.
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8) What is data granularity?

Answer:  Data can be too fine or too coarse. Data granularity refers to the degree of summarization or detail. Coarse data are highly summarized; fine data express precise details. Generally, it is better to have too fine a granularity than too coarse. If the granularity is too fine, the data can be made coarser by summing and combining. If the granularity is too coarse, however, there is no way to separate the data into constituent parts.
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9) Explain clickstream data.

Answer:  Clickstream data is that data which is captured from customers' clicking behavior. These data are very fine and include everything a customer does at the Web site. Because the data are too fine, the data analysts must throw away millions and millions of clicks.
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10) Explain the curse of dimensionality.

Answer:  The curse of dimensionality is associated with the problem of data having too many attributes. Suppose there are too many attributes from the internal customer data as well as the customer data that has been purchased. To be able to select among them, the curse of dimensionality says that the more attributes there are, the easier it is to build a model that fits the sample data but that is worthless as a predictor. 
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11) What is the purpose of a data warehouse?

Answer:  The purpose of a data warehouse is to extract and clean data from operational systems and other sources, and to store and catalog that data for processing by BI tools. The prepared data are stored in a data warehouse database using a data warehouse DBMS, which can be different from the organization's operational DBMS.
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12) How is a data warehouse different from a data mart?

Answer:  The purpose of a data warehouse is to extract and clean data from operational systems and other sources, and to store and catalog that data for processing by BI tools. In a way, one can think of a data warehouse as a distributor in a supply chain. The data warehouse takes data from the data manufacturers (operational systems, other internal systems, etc.), cleans and processes the data, and locates the data on its shelves, so to speak—that is, on the disks of the data warehouse computers. The people who work with a data warehouse are experts at data management, data cleaning, data transformation, metadata design, and the like. Data warehouse business analysts know the general needs of the business, but they are not experts in a given business function.

A data mart is a data collection, smaller than the data warehouse, that addresses a particular component or functional area of the business. If the data warehouse is the distributor in a supply chain, then a data mart is like a retail store in a supply chain. Users in the data mart obtain data that pertain to a particular business function from the data warehouse. Such users do not have the data management expertise that data warehouse employees have, but they are knowledgeable analysts for a given business function.
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13) What is data mining?

Answer:  Data mining is the application of statistical techniques to find patterns and relationships among data and to classify and predict. Data mining techniques emerged from statistics and mathematics and from artificial intelligence and machine-learning fields in computer science. As a result, data mining terminology is an odd blend of terms from these different disciplines. Sometimes people use the term knowledge discovery in databases (KDD) as a synonym for data mining. Most data mining techniques are sophisticated, and many are difficult to use. Data mining techniques fall into two broad categories: unsupervised and supervised.
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14) What is unsupervised data mining? 

Answer:  Unsupervised data mining is where analysts do not create a model or hypothesis before running the analysis. Instead, they apply the data mining technique to the data and observe the results. With this method, analysts create hypotheses after the analysis to explain the patterns found. Findings are obtained solely by data analysis.

One common unsupervised technique is cluster analysis. With it, statistical techniques identify groups of entities that have similar characteristics. A common use for cluster analysis is to find groups of similar customers from customer order and demographic data.
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15) Explain supervised data-mining and list the techniques used in it.

Answer:  With supervised data mining, data miners develop a model prior to the analysis and apply statistical techniques to data to estimate parameters of the model. For example, suppose marketing experts in a communications company believe that cell phone usage on weekends is determined by the age of the customer and the number of months the customer has had the cell phone account. A data mining analyst would then run an analysis that estimates the impact of customer and account age.

One technique which measures the impact of a set of variables on another variable is called a regression analysis. Neural networks are another popular supervised data mining technique used to predict values and make classifications, such as “good prospect” or “poor prospect” customers.
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Experiencing MIS, 3e (Kroenke) 

Chapter 10:  Information Systems Development 

Multiple Choice

1) The process of creating and maintaining information systems is called ________.

A) systems development

B) program development

C) systems definition

D) computer design

Answer:  A
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2) Compared to program development, systems development is ________.

A) narrower in focus

B) less comprehensive

C) broader in scope

D) mostly technical in nature

Answer:  C
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3) Which of the following is true of systems development? 

A) It has little need for human relations skills as tasks are performed by individuals, not groups.

B) It is exclusively a technical task undertaken by programmers and hardware specialists.

C) It is limited to the four domains of hardware, software, data, and procedures.

D) It requires coordinated teamwork of both specialists and nonspecialists with business knowledge.

Answer:  D
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4) Information systems are never ________.

A) off-the-shelf

B) tailor-made

C) off-the-shelf with adaptation

D) made-to-order

Answer:  A
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5) The bigger the system and the longer the project, ________. 

A) the lesser are the diseconomies of scale

B) the more the requirements change

C) the greater is the average contribution per worker

D) the easier the task of scheduling becomes

Answer:  B
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6) According to Brooks' Law, adding more people to a late project ________.

A) makes the project later

B) decreases the overall cost

C) improves the quality of work

D) enhances the team's productivity

Answer:  A

Page Ref: 237

Difficulty:  Easy

AACSB:  Use of IT

Study Question:  Study Question 2

7) Adding more people to a late systems development project will make the project later because ________.

A) allocating tasks becomes more difficult

B) training new people slows down team members

C) analyzing the system requirements becomes complex

D) budgeting project costs becomes complicated

Answer:  B
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8) As development teams become larger, the average contribution per worker ________.

A) increases

B) decreases

C) stabilizes

D) increases, but only marginally

Answer:  B
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9) As staff size increases, ________.

A) the average contribution per worker also increases

B) diseconomies of scale tend to level off and eventually decrease

C) economies of scale consistently increase almost proportionately

D) more meetings and coordination activities are required to keep everyone in sync

Answer:  D
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10) Developers in the ________ phase of the SDLC use management's statement of the system needs in order to begin the process of developing a new information system.

A) system definition

B) requirements analysis

C) component design

D) implementation

Answer:  A
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11) The ________ approach is the classical process used to develop information systems.

A) rapid application development (RAD)

B) object-oriented design (OOD)

C) systems development life cycle (SDLC)

D) extreme programming (XP)

Answer:  C
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12) The initial step in the first phase of the SDLC is to ________.

A) assess the feasibility of the project

B) define the goals and scope of the new system

C) determine the schedule and budget for the project

D) form the project team

Answer:  B
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13) Which step in the SDLC process aims to eliminate obviously nonsensible projects?

A) Define system goals and scope.

B) Form the project team.

C) Assess project feasibility.

D) Plan the project.

Answer:  C
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14) ________ feasibility concerns whether the new information system fits within a company's customs, culture, charter, or legal requirements. 

A) Technical

B) Functional

C) Administrative

D) Organizational

Answer:  D
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15) ________ are IT professionals who understand both business and technology. 

A) Systems analysts

B) Programmers

C) Business analysts

D) Beta testers

Answer:  A
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16) Which of the following statements is true regarding the composition of the development team over the life of the SDLC?

A) User involvement is limited to the integrated testing and conversion phase of the SDLC.

B) During requirements definition, the team will be heavy with systems analysts. 

C) During integrated testing and conversion, the team is made up of only programmers and designers.

D) During design and implementation, the team will be heavy with  business users.

Answer:  B
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17) The primary purpose of the requirements analysis phase is to ________. 

A) eliminate obviously nonsensible projects before forming a project development team

B) identify the requisite skills needed in the IT personnel assigned to the project

C) determine and document the specific features and functions of the new system

D) investigate how much similar projects have cost in the past

Answer:  C
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18) Which is the most important phase in the systems development process?

A) defining the goals and scope of the new information system

B) implementing the information system 

C) determining the system's requirements

D) adapting systems to changes in requirements

Answer:  C
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19) During the requirements analysis phase of the SDLC, the development team will create a(n)________ in case the new system involves a new database or substantial changes to an existing database.

A) data model

B) prototype

C) archetype

D) illustration

Answer:  A
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20) Which of the following statements is true with regard to requirements definition?

A) Requirements determination is a simple, inexpensive process as it is limited to interviewing system users.

B) Requirements should avoid specifying the volume of data to be stored and processed.

C) Requirements determination should ideally focus on software and data components.

D) Requirements include what is to be produced, as well as how frequently and how fast it is to be produced.

Answer:  D
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21) The easiest and cheapest time to alter the information system is in the ________  phase of the SDLC.

A) requirements analysis

B) system definition

C) component design

D) implementation

Answer:  A
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22) In terms of software design, for ________, the team must determine candidate products and evaluate them against the requirements while for ________, the team produces design documentation for writing program code.

A) off-the-shelf-with-alteration software; custom-developed programs

B) off-the-shelf software; custom-developed programs

C) off-the-shelf-with-alteration software; off-the-shelf software

D) tailor-made software; off-the-shelf software

Answer:  B
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23) Normal processing procedures for system users are ________.

A) procedures to continue operations when the system fails

B) procedures for backing up data and other resources

C) procedures for using the system to accomplish business tasks

D) procedures to convert back to the system after recovery

Answer:  C
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24) Normal processing procedures for operations personnel are ________.

A) procedures to continue operations when the system fails

B) procedures for backing up data and other resources

C) procedures for using the system to accomplish business tasks

D) procedures for starting, stopping, and running the system

Answer:  D
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25) During the ________ phase of the SDLC process, developers construct, test, and install the components of the information system.

A) requirements analysis

B) database design

C) feasibility assessment

D) implementation

Answer:  D
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26) A test plan ________.

A) should not include the incorrect actions that users will take

B) should cause every line of program code to be executed

C) should cause only critical error messages to be displayed

D) should be constructed by PQA personnel alone

Answer:  B
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27) ________ is the process of allowing future system users to try out the new system on their own.

A) PQA testing

B) Acceptance testing

C) Pretesting

D) Beta testing

Answer:  D
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28) Products in the beta test phase ________.

A) are generally fully functioning

B) are incomplete

C) are in the first phase of testing

D) have several serious errors

Answer:  A
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29) ________ have the final say on whether a system is ready. 

A) Managers

B) Systems analysts

C) Users

D) PQA personnel

Answer:  C
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30) ________ refers to the process of moving the business activity from an old information system to a new system. 

A) System definition

B) Test plan

C) Parallel installation

D) System conversion

Answer:  D
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31) The advantage of ________ installation is that if the system fails, the failure is contained within a limited boundary.

A) phased

B) parallel

C) pilot 

D) plunge

Answer:  C
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32) In a ________ installation, the new system runs alongside the old one until it has been tested and is fully operational.

A) pilot

B) parallel

C) phased

D) plunge

Answer:  B
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33) Parallel installation is the ________ style of installation.

A) most preferred

B) riskiest

C) slowest

D) least expensive

Answer:  C
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34) Because of the significant risks involved, organizations should avoid this conversion style if possible.

A) plunge

B) parallel

C) pilot

D) phased

Answer:  A
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35) Which of the following statements is true with regard to system maintenance?

A) Software developers usually club enhancement requests and failures together.

B) IS personnel prioritize system problems on a first-come-first-served basis.


C) All commercial software products are shipped with known failures.

D) All organizations track system failures and enhancements using word-processing documents.

Answer:  C
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36) Software developers group fixes for high priority failures into a ________ that can be applied to all copies of a given product. 

A) service pack

B) debugger

C) patch

D) system fix

Answer:  C
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37) Software vendors usually bundle fixes of low-priority problems into ________.

A) patches

B) service packs

C) debuggers

D) system fixes

Answer:  B
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38) One of the reasons for SDLC problems is due to the ________ nature of the SDLC. This implies that the systems development process is supposed to operate in a sequence of nonrepetitive phases. 

A) network

B) clustered

C) parallel

D) waterfall

Answer:  D
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39) Projects that spend so much time ________ are sometimes said to be in analysis paralysis.

A) in the system definition phase of the SDLC

B) on project scheduling

C) documenting requirements 

D) designing system components

Answer:  C
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True or False

1) Systems development has a broader scope than computer program development.

Answer:  TRUE
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2) Information systems involve people and procedures, so they can never be off-the-shelf.

Answer:  TRUE
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3) Systems development is easy and risk-free.

Answer:  FALSE
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4) The bigger the system and the longer the project, the more the requirements change.

Answer:  TRUE
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5) One of the major challenges in systems development is changing technology.

Answer:  TRUE
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6) Beyond a workgroup of four or five people, diseconomies of scale begin to take over.

Answer:  FALSE
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7) Brooks' Law points out that whenever you add more people to a project, it will always delay the completion of the project.

Answer:  FALSE
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8) The third phase of the systems development life cycle is the component design phase.

Answer:  TRUE
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9) The description of fixes and new requirements is input into a system maintenance phase.

Answer:  TRUE
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10) The goals and scope of a new information system are determined during the requirements analysis phase of the systems development life cycle.

Answer:  FALSE
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11) The cost feasibility of a systems development project is usually expressed in exact figures or terms.

Answer:  FALSE
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12) Organizational feasibility concerns how long it will take to complete the project.

Answer:  FALSE
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13) Systems analysts are IT professionals who understand both business and technology.

Answer:  TRUE
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14) User involvement is redundant throughout the systems development process.

Answer:  FALSE
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15) Interviews are conducted with system users in the requirements analysis phase of the systems development life cycle.

Answer:  TRUE
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16) The security needs of an information system are determined during the component design phase of the systems development life cycle.

Answer:  FALSE
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17) The easiest and cheapest time to alter the information system is in the requirements analysis phase of the systems development life cycle.

Answer:  TRUE
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18) In terms of software design for custom-developed programs, the development team identifies off-the-shelf products and then determines the alterations required. 

Answer:  FALSE
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19) Test plans usually include not only the normal actions that users will take, but also incorrect actions. 

Answer:  TRUE
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20) Testing is often called product quality assurance (PQA).

Answer:  TRUE
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21) In a pilot installation, a new system is installed in phases across the organization.

Answer:  FALSE
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22) In a direct installation, the organization shuts off the old system and starts the new system.

Answer:  TRUE
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23) All commercial software products are shipped with known failures.

Answer:  TRUE
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24) Projects that spend little time documenting requirements are sometimes said to be in analysis paralysis.

Answer:  FALSE

Page Ref: 250

Difficulty:  Easy

AACSB:  Use of IT

Study Question:  Study Question 9

25) Actual systems development generally works in accordance with the waterfall nature of the systems development life cycle.

Answer:  FALSE
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26) The software community has done much work to improve software development forecasting; therefore, scheduling and budgeting for new, large-scale systems are no longer problematic. 

Answer:  FALSE
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Essay

1) What is systems development? How is it different from program development?

Answer:  Systems development is the process of creating and maintaining information systems. Systems development has a broader scope than computer program development as it involves all five components: hardware, software, data, procedures, and people. Developing a computer program, on the other hand, mostly involves software programs, with some focus on data and databases.

Compared to program development, systems development requires more than just programming or technical expertise. Establishing the system's goals, setting up the project, and determining requirements require business knowledge and management skill. Tasks like building computer networks and writing computer programs require technical skills. Creating data models requires the ability to interview users and understand their view of the business activities. Designing procedures, especially those involving group action, requires business knowledge and an understanding of group dynamics. Developing job descriptions, staffing, and training all require human resource and related expertise.

Thus, unlike program development, systems development is not an exclusively technical task undertaken by programmers and hardware specialists. Rather, it requires coordinated teamwork of both specialists and nonspecialists with business knowledge.
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2) Why is systems development difficult and risky? 

Answer:  Systems development is difficult and risky because it is often very difficult to determine system requirements, which is further compounded by the fact that requirements tend to change as the system is developed. Usually, the bigger the system and the longer the project, the more the requirements change. Systems development also faces difficulties in terms of scheduling and budgeting. It is often difficult to estimate the time it will take to build a system and if labor hours cannot be estimated, labor costs cannot be estimated. Yet another challenge is that while the project is underway, technology continues to change. Lastly, as development teams become larger, the average contribution per worker decreases. This is true because as staff size increases, more meetings and other coordinating activities are required to keep everyone in sync. There are economies of scale up to a point, but beyond a workgroup of, say, 20 employees, diseconomies of scale begin to take over.
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3) Explain how diseconomies of scale can affect systems development.

Answer:  Unfortunately, as development teams become larger, the average contribution per worker decreases. This is true because as staff size increases, more meetings and other coordinating activities are required to keep everyone in sync. There are economies of scale up to a point, but beyond a workgroup of, say, 20 employees, diseconomies of scale begin to take over. 

Brooks' Law points out a related problem: Adding more people to a late project makes the project later. Brooks' Law is true not only because a larger staff requires increased coordination, but also because new people need training. The only people who can train the new employees are the existing team members, who are thus taken off productive tasks. The costs of training new people can overwhelm the benefit of their contribution.
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4) What are the phases of the systems development life cycle (SDLC)?

Answer:  The five phases of the systems development life cycle are (1) system definition, (2) requirements analysis, (3) component design, (4) implementation, and (5) system maintenance.
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5) What are the main tasks that are performed during the system definition phase of the SDLC?

Answer:  During the system definition phase of the SDLC, the development team defines the goal and purpose of the new system. The project's scope is defined by specifying the users  or the business processes or the plants, offices, and factories that will be involved. The next step is to assess feasibility. This step answers the question, “Does this project make sense?” The aim here is to eliminate obviously nonsensible projects before forming a project development team and investing significant labor. Feasibility is assessed in terms of four dimensions: cost, schedule, technical, and organizational. If the defined project is determined to be feasible, the next step is to form the project team. Typical personnel on a development team are a manager, system analysts, programmers, software testers, and users. The first major task for the assembled project team is to plan the project. Members of the project team specify tasks to be accomplished, assign personnel, determine task dependencies, and set schedules.
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6) Typically, who are part of a systems project team? What are the roles of business analysts and systems analysts?

Answer:  Typical personnel on a development team are a manager (or managers for larger projects), business analysts, system analysts, programmers, software testers, and users. Business analysts specialize in understanding business needs, strategies, and goals and helping businesses implement systems to accomplish their competitive strategies. Systems analysts are IT professionals who understand both business and technology. 

Systems analysts are closer to IT and are a bit more technical, though there is considerable overlap in the duties and responsibilities of business and system analysts. Both are active throughout the systems development process and play a key role in moving the project through the systems development process. Business analysts work more with managers and executives; systems analysts integrate the work of the programmers, testers, and users. Depending on the nature of the project, the team may also include hardware and communications specialists, database designers and administrators, and other IT specialists.
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7) What is meant by technical feasibility and organizational feasibility?

Answer:  Technical feasibility refers to whether existing information technology is likely to be able to meet the needs of the new system. Organizational feasibility concerns whether the new system fits within the organization's customs, culture, charter, or legal requirements.
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8) What is the importance of the requirements analysis phase of the SDLC?

Answer:  Determining the system's requirements is the most important phase in the systems development process. If the requirements are wrong, the system will be wrong. If the requirements are determined completely and correctly, then design and implementation will be easier and more likely to result in success. Sources of requirements include system users and existing systems. The Web pages, forms, reports, queries, and application features and functions desired in the new system are also determined. Security is another important category of requirements. The easiest and cheapest time to alter the information system is in the requirements phase. Changing a requirement at this stage is simply a matter of changing a description. Changing a requirement in the implementation phase may require weeks of reworking applications components and the database.
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9) How is software designed?

Answer:  Software design depends on the source of the programs. For off-the-shelf software, the team must determine candidate products and evaluate them against the requirements. For off-the-shelf-with-alteration software, the team identifies products to be acquired off-the-shelf and then determines the alterations required. For custom-developed programs, the team produces design documentation for writing program code.
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10) What is a test plan?

Answer:  Once developers have constructed and tested all of the system components, they integrate the individual components and test the system. Software and system testing are difficult, time-consuming, and complex tasks. Developers need to design and develop test plans and record the results of tests. A test plan consists of sequences of actions that users will take when using the new system. Test plans include not only the normal actions that users will take, but also incorrect actions. A comprehensive test plan should cause every line of program code to be executed. The test plan should cause every error message to be displayed.
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11) What is beta testing?

Answer:  Beta testing is the process of allowing future system users to try out the new system on their own. Software vendors, such as Microsoft, often release beta versions of their products for users to try and to test. Such users report problems back to the vendor. Beta testing is the last stage of testing. Normally, products in the beta test phase are complete and fully functioning; they typically have few serious errors.
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12) What are the four ways in which organizations can implement a system conversion?

Answer:  Organizations can implement a system conversion in one of four ways. In a pilot installation, the organization implements the entire system on a limited portion of the business. In a phased installation, the new system is installed in phases across the organization. With parallel installation, the new system runs in parallel with the old one until the new system is tested and fully operational. The final style of conversion is plunge installation (sometimes called direct installation). With it, the organization shuts off the old system and starts the new system.
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13) What are the tasks of system maintenance?

Answer:  The last phase of the SDLC is maintenance. Maintenance is a misnomer; the work done during this phase is either to fix the system so that it works correctly or to adapt it to changes in requirements. First, there needs to be a means for tracking both failures and requests for enhancements to meet new requirements. For small systems, organizations can track failures and enhancements using word-processing documents. Typically, IS personnel prioritize system problems according to their severity. They fix high-priority items as soon as possible, and they fix low-priority items as time and resources become available.

Page Ref: 248-249

Difficulty:  Easy

AACSB:  Use of IT

Study Question:  Study Question 8

14) What are patches and service packs?

Answer:  Patches are group fixes for high priority failures that can be applied to all copies of a given product. Software vendors supply patches to fix security and other critical problems. They usually bundle fixes of low-priority problems into larger groups called service packs. Users apply service packs in much the same way that they apply patches, except that service packs typically involve fixes to hundreds or thousands of problems.
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15) What are the problems associated with the SDLC waterfall? Explain with an example.

Answer:  Although the industry has experienced notable successes with the SDLC process, there have also been many problems with it. One of the reasons for SDLC problems is due to the waterfall nature of the SDLC. Like a series of waterfalls, the process is supposed to operate in a sequence of nonrepetitive phases. For example, the team completes the requirements phase and goes over the waterfall into the design phase, and on through the process. Most commonly, when design work begins and the team evaluates alternatives, they learn that some requirements statements are incomplete or missing. At that point, the team needs to do more requirements work, yet that phase is supposedly finished.
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Experiencing MIS, 3e (Kroenke) 

Chapter Extension 15: Database Marketing

Multiple Choice

1) Which of the following marketing techniques refers to the application of business intelligence systems to the planning and execution of marketing programs?

A) ambush marketing

B) viral marketing

C) database marketing

D) guerrilla marketing

Answer:  C

Page Ref: 505

Difficulty:  Easy

AACSB:  Use of IT

Study Question:  Study Question 1

2) Which of the following is a way of analyzing and ranking customers according to their purchasing patterns?

A) composite forecasts

B) RFM analysis

C) Cooke method

D) Delphi technique

Answer:  B
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3) Which of the following is the first step in the process of producing an RFM score? 

A) calculating income from most frequently bought items

B) calculating sales of the previous quarter

C) sorting customer purchase records by the date of most recent purchase

D) verifying customer IDs

Answer:  C
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4) In RFM analysis, an R score of 5 shows that ________.

A) the customer has not made recent purchases

B) the customer has bought the most expensive item 

C) the customer has frequently ordered costly items

D) the customer has purchased high end items lately

Answer:  A
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5) In RFM analysis, an F score of 1 shows that ________.

A) the customer has bought the least expensive item

B) the customer has frequently placed an order 

C) the customer has always  bought the most expensive item

D) the customer has rarely made a purchase

Answer:  B
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6) In RFM analysis, an M score of ________ shows customers who have bought the least expensive item.

A) 2

B) 5

C) 1

D) 4

Answer:  B
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7) If a customer has an RFM score of 113, which of the following actions should be implemented by the sales team?

A) should attempt to up-sell more expensive goods to this customer

B) should contact this customer immediately

C) should not waste any time on this customer

D) should set up an automated contact system for this customer

Answer:  A
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8) An RFM score of ________ means that if this customer goes to the competitor, loss to the company will be minimal.

A) 321

B) 333

C) 555

D) 111

Answer:  C
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9) Which of the following RFM scores refer to the most valuable customer?

A) 111

B) 555

C) 123

D) 333

Answer:  A
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10) Which of the following is a data mining technique for determining sales patterns?

A) RFM analysis

B) market basket analysis

C) composite analysis

D) Cooke analysis

Answer:  B
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11) In marketing transactions, the fact that customers who buy product X also buy product Y creates a(n) ________ opportunity.

A) relationship selling

B) cross selling

C) value added selling

D) persuasive selling

Answer:  B
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12) In market-basket terminology, ________ is the term used to represent the probability that two items will be purchased together.

A) confidence

B) support

C) cohesion

D) assurance

Answer:  B
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13) In market-basket terminology, a conditional probability estimate is referred to as ________.

A) support

B) cohesion

C) confidence

D) chance

Answer:  C
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14) In market-basket terminology, the ratio of confidence to the base probability of buying an item is called ________.

A) cohesion

B) support

C) confidence

D) lift

Answer:  D
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15) ________ shows how much the base probability increases or decreases when other products are purchased.

A) Lift

B) Support

C) Confidence

D) Cohesion

Answer:  A
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16) Which of the following techniques uses a hierarchical arrangement of criteria to make predictions?

A) market-basket analysis

B) RFM technique

C) Cooke method

D) decision tree

Answer:  D
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17) What is the basic idea of the decision tree technique?

A) to analyze and rank customers according to their purchasing patterns

B) to select attributes that are most useful for classifying entities on some criterion

C) to determine annual sales patterns

D) to capture, store, analyze, and display geospatial data

Answer:  B
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True or False

1) Database marketing is the application of business intelligence systems to the planning and execution of marketing programs.

Answer:  TRUE
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2) Data-mining techniques are essential for database marketing.

Answer:  TRUE
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3) The RFM score is obtained by ranking the customers on the basis of pricing patterns.

Answer:  FALSE
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4) The RFM score of customers is obtained by multiplying their recency score, frequency score, and money score.

Answer:  FALSE
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5) A high F score denotes that the customer has bought an expensive item recently.

Answer:  FALSE
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6) A shop finds that the M score of a customer is 1. This means that the customer has paid high dollar value to the shop.

Answer:  TRUE
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7) RFM analysis does not provide an understanding of the dollar value spent by a customer.

Answer:  FALSE
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8) A customer obtains an RFM score of 555. This means that the customer is very important to the seller.

Answer:  FALSE
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9) The frequency of customer purchases is not a determining factor for RFM score.

Answer:  FALSE
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10) RFM can be a useful tool to determine who your best customers are and who hasn't been in to the store in a while.

Answer:  TRUE
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11) RFM scores can be used to concentrate the efforts of salespeople.

Answer:  TRUE
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12) Market-basket analysis is used to explore cross-selling opportunities.

Answer:  TRUE
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13) A market-basket analysis shows that the support for products A and B is very high. This means that probability of buying B is very high if the customer has bought A.

Answer:  TRUE
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14) In market-basket analysis terminology, confidence refers to the probability that two items will be bought together.

Answer:  FALSE
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15) The ratio of confidence to the base probability of buying an item is called support.

Answer:  FALSE
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16) Decision-tree analysis is a data-mining technique that requires a high degree of supervision.

Answer:  FALSE
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17) The decision tree makes decisions based on If/Then decision rules.

Answer:  TRUE
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18) A common business application of decision trees is to classify loans by likelihood of default.

Answer:  TRUE
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Essay

1) What is database marketing?

Answer:  Database marketing is the application of business intelligence systems to the planning and execution of marketing programs. Databases are a key component of database marketing, but data-mining techniques are also very important. Database marketing makes intelligent use of the data available with organizations to increase sales and customer value.
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2) Describe the process of conducting RFM analysis. 

Answer:  RFM analysis is a way of analyzing and ranking customers according to their purchasing patterns. It is a simple technique that considers how recently (R) a customer has ordered, how frequently (F) a customer orders, and how much money (M) the customer spends per order.

To produce an RFM score, the program first sorts customer purchase records by the date of most recent (R) purchase. In a common form of this analysis, the program then divides the customers into five groups and gives customers in each group a score of 1 to 5. The 20 percent of the customers having the most recent orders are given an R score of 1, the 20 percent of the customers having the next most recent orders are given an R score of 2, and the last 20 percent, who are given an R score of 5.

The program then re-sorts the customers on the basis of how frequently they order. The 20 percent of the customers who order most frequently are given an F score of 1, the next 20 percent of most frequently ordering customers are given a score of 2, and the least frequently ordering customers are given an F score of 5.

Finally, the program sorts the customers again according to the amount spent on their orders. The 20 percent who have ordered the most expensive items are given an M score of 1, the next 20 percent are given an M score of 2, the 20 percent who spend the least are given an M score of 5. A customer who has obtained an R score of 1, an F score of 3, and an M score of 3 is given an RFM score 133.
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3) What is a market-basket analysis?

Answer:  Market-basket analysis is a data-mining technique for determining sales patterns in an attempt to find out the products that a consumer may purchase together. This gives companies an opportunity to cross-sell and increase overall dollar intake.
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4) In market-basket terminology, what is lift ? How is it related to confidence?

Answer:  In market-basket terminology, conditional probability estimate is called the confidence.

The ratio of confidence to the base probability of buying an item is called lift. Lift shows how much the base probability increases or decreases when other products are purchased. Lift for two items is calculated by dividing the confidence of the two items by the base probability of one of the items. Lift is directly proportional to confidence.
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5) What are decision trees? How do they classify people into groups?

Answer:  A decision tree is a hierarchical arrangement of criteria that predict a classification or a value. Decision-tree analysis is an unsupervised data-mining technique. The analyst sets up the computer program and provides the data to analyze, and the decision-tree program produces the tree. The basic idea of a decision tree is to select attributes that are most useful for classifying entities on some criterion.

The user should input data about different attributes into the decision-tree program. The program then analyzes all of the attributes and selects an attribute that creates the most disparate groups. The more different the groups, the better the classification will be. A decision-tree program creates groups that are as pure as possible. A common business application of decision trees is to classify loans by likelihood of default.
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Chapter Extension 16: Reporting Systems and OLAP

Multiple Choice

1) Which of the following tools is used to create meaningful information from disparate data sources and to deliver that information to the proper user on a timely basis?

A) authoritative systems 

B) reporting systems

C) monitoring systems

D) intelligence systems

Answer:  B
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2) Which of the following reporting system functions will come useful if a user wants to select a portion of the database on the basis of a specific criterion?

A) sorting 

B) calculating

C) grouping

D) filtering

Answer:  D
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3) Reporting systems use the ________ as a reference to prepare and deliver reports to the proper users on a timely basis.

A) index

B) directory

C) metadata

D) register

Answer:  C
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4) Reports that are not subject to change and are prepared from underlying data are referred to as ________.

A) stable reports 

B) static reports

C) underlying reports

D) data reports

Answer:  B
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5) Which of the following is a medium for reporting query reports?

A) paper and PDF file

B) digital dashboard

C) Web site

D) alerts via email

Answer:  C
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6) XML Web service reports are an example of ________ reports.

A) static

B) dynamic

C) OLAP

D) query

Answer:  C
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7) Reports that are prepared in response to data entered by users are termed ________.

A) query reports

B) static reports

C) dynamic reports

D) OLAP reports

Answer:  A
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8) Which of the following is an electronic report media that can be customized for particular users?

A) hoardings

B) mirror display

C) digital dashboards

D) billboards

Answer:  C
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9) Users can declare that they wish to receive notification of events, say, via email or on their cell phones. These kinds of reports are termed as ________.

A) datums

B) RFM

C) OLAP reports

D) alerts

Answer:  D
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10) Pull report refers to ________.

A) a report that takes hours for creation

B) a report about the functioning of the system

C) a report generated by user request

D) a report prepared from the underlying data

Answer:  C
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11) Which of the following types of reports is an example of a push report?

A) static report

B) dynamic report

C) query report

D) OLAP report

Answer:  A
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12) Creating the report structure and formatting the report are a part of ________.

A) report management

B) report authoring

C) report pitching

D) report delivery

Answer:  B
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13) The purpose of ________ is to define who receives what reports, when, and by what means.

A) report management

B) report authoring

C) report finishing

D) report pitching

Answer:  A

Page Ref: 520

Difficulty:  Easy

AACSB:  Use of IT

Study Question:  Study Question 3

14) Which of the following reports has ability to sum, count, average, and perform other simple arithmetic operations on groups of data?

A) query reports

B) static reports

C) database reports

D) OLAP reports

Answer:  D
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15) In the OLAP reports, the data item that is to be processed is called ________.

A) measure

B) dimension

C) cube

D) drill

Answer:  A
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16) With reference to the online analytical processing, a presentation of a measure with associated dimensions is known as an ________.

A) OLAP mode

B) OLAP server

C) OLAP report

D) OLAP cube

Answer:  D
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17) What are dimensional databases?

A) Databases storing detailed data about organizational operations.

B) Databases that are structured to support OLAP processing.

C) Databases consisting of data developed by individual end-users.

D) Databases that are located online and cover millions of systems.

Answer:  B
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True or False

1) Reporting systems cannot generate reports that require calculations on the data.

Answer:  FALSE
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2) Data generated from public sources is a component of reporting systems.

Answer:  TRUE
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3) Ordinal data is used to describe reports, users, groups, roles, events, and other entities involved in the reporting activity.

Answer:  FALSE
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4) Reporting systems use dedicated indexing systems instead of metadata to prepare and deliver reports to the proper users on a timely basis.

Answer:  FALSE
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5) A reporting system can create dynamic reports only if the most current data is available.

Answer:  TRUE
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6) Query reports allow the user to dynamically change the report grouping structures.

Answer:  FALSE
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7) A report on current stock prices is an example of a static report.

Answer:  FALSE
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8) Alerts generated on the basis of user notification are not treated as reports.

Answer:  FALSE
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9) Push reports are generated only on receiving a user request.

Answer:  FALSE
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10) Connecting to data sources is a part of report management.

Answer:  FALSE
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11) An administrator in a company defines who receives what reports, when, and by what means. These functions performed by the administrator are referred to as report delivery.

Answer:  FALSE
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12) For query reports, the report-delivery system serves as an intermediary between the user and the report generator.

Answer:  TRUE
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13) In OLAP reports, a dimension refers to an item that is to be processed in the OLAP report.

Answer:  FALSE
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14) Each OLAP cube in a report is a characteristic of the measures in the OLAP report.

Answer:  FALSE
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15) Users are not allowed to alter the format of OLAP reports.

Answer:  FALSE
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16) The process of dividing the data in OLAP reports into more detail is termed drill-down.

Answer:  TRUE
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17) OLAP report generation is slower compared to standard DBMS report generation.

Answer:  TRUE
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18) Databases that are structured to support OLAP processing are called OLAP databases.

Answer:  FALSE
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Essay

1) What is a reporting system? What are the operations performed by them?

Answer:  A reporting system is an information system that creates information by processing data from disparate sources and delivering that information to the proper users on a timely basis. Reporting systems generate information from data as a result of four operations: (1) filtering data, (2) sorting data, (3) grouping data, and (4) making simple calculations on the data.

Page Ref: 515

Difficulty:  Easy

AACSB:  Use of IT

Study Question:  Study Question 1

2) How does a reporting system obtain the necessary data to generate reports?

Answer:  Data from disparate data sources are read and combined, using filtering, sorting, grouping, and simple calculating, to produce information. Some data are generated within the organization, other data are obtained from public sources, and still other data may be purchased from data utilities.
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3) What are the different types of reports? Explain.

Answer:  In terms of report type, reports can be static or dynamic. Static reports are prepared once from the underlying data, and they do not change. A report of past year's sales, for example, is a static report. Other reports are dynamic; at the time of creation, the reporting system reads the most current data and generates the report using that fresh data. A report on sales today and a report on current stock prices are both dynamic reports. Query reports are prepared in response to data entered by users. Searching for data in Google is an example of a query report. Online analytical processing (OLAP) is a fourth type of report. OLAP reports allow the user to dynamically change the report grouping structures.
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4) What is the difference between push and pull reports?

Answer:  Organizations send a push report to users according to a preset schedule. Users receive the report without any activity on their part. In contrast, users must request a pull report. To obtain a pull report, a user goes to a Web portal or digital dashboard and clicks a link or button to cause the reporting system to produce and deliver the report.
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5) Explain report authoring, management, and delivery.

Answer:  Authoring a report involves connecting to data sources, creating the report structure, and formatting the report. Organizations can author reports by using a developer tool like Microsoft's Visual Studio. The purpose of report management is to define who receives what reports, when, and by what means. Most report-management systems allow the report administrator to define user accounts and user groups and to assign particular users to particular groups. The report-delivery function of a reporting system pushes reports or allows them to be pulled according to report-management metadata. Reports can be delivered via an email server, via a Web site, via SOA services, or by other program-specific means.
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6) Describe online analytical processing.

Answer:  Online analytical processing (OLAP) provides the ability to sum, count, average, and perform other simple arithmetic operations on groups of data. The remarkable characteristic of OLAP reports is that their format is dynamic. The viewer of the report can change the report's structure. An OLAP report has measures and dimensions. A measure is the data item of interest. It is the item that is to be summed or averaged or otherwise processed in the OLAP report. A dimension is a characteristic of a measure.
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7) What is an OLAP cube?

Answer:  A presentation of a measure with associated dimensions is often called an OLAP cube, or sometimes simply a cube. The reason for this term is that some products show these displays using three axes, like a cube in geometry. An OLAP cube and an OLAP report are the same thing.
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Chapter Extension 20: Outsourcing

Multiple Choice

1) ________ is the hiring of another organization to perform a service.

A) Insourcing

B) Merchandising

C) Poaching

D) Outsourcing

Answer:  D
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2) Which of the following is an advantage of outsourcing?

A) It allows the organization greater control.

B) It guarantees quality and risk reduction.

C) It can be an easy way to gain expertise.

D) It allows for an easy exit.

Answer:  C
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3) Companies opt for outsourcing because it ________.

A) frees up management time

B) guarantees quality and risk reduction

C) allows the organization greater control

D) allows for an easy exit

Answer:  A
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4) Outsourcing ________.

A) allows the organization greater control

B) guarantees quality and risk reduction

C) allows companies to obtain part-time services

D) allows for an easy exit

Answer:  C
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5) Which of the following is a cost reduction advantage of outsourcing?

A) obtaining expertise

B) avoiding management problems

C) gaining economies of scale

D) greater management control

Answer:  C
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6) Which of the following is an advantage of outsourcing?

A) It allows the organization greater control.

B) It guarantees quality and risk reduction.

C) It allows for an easy exit.

D) It caps the organization's financial risk.

Answer:  D
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7) Which of the following is an advantage of outsourcing?

A) It allows the organization greater control.

B) It helps ensure a certain level of quality.

C) It guarantees quality and risk reduction.

D) It allows for an easy exit.

Answer:  B
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8) Instead of buying and maintaining its own computers, Timber and Tools has leased time from a cloud vendor. This is an example of how ________ can be outsourced.

A) computer hardware

B) software

C) entire applications

D) entire business functions

Answer:  A
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9) A Web storefront is a form of ________ outsourcing.

A) computer hardware

B) software

C) application

D) entire business function

Answer:  C
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10) Which of the following is true about acquiring licensed software?

A) It is not a form of outsourcing, just licensing.

B) It is created in-house by an organization.

C) It is usually licensed from a branch of the same company.

D) It allows the vendor to spread maintenance cost over all users.

Answer:  D
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11) Flashlight Films has outsourced its internet and social media marketing campaigns. This is an example of how companies can outsource ________.

A) computer hardware

B) computer software

C) entire applications

D) entire business functions

Answer:  D
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12) Which of the following is a disadvantage of outsourcing?

A) loss of control

B) inability to ensure a certain level of quality

C) takes up too much management time

D) high implementation risk

Answer:  A
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13) Which of the following is a disadvantage of outsourcing?

A) high implementation risk

B) inability to ensure a certain level of quality

C) takes up too much management time

D) potential loss of intellectual capital

Answer:  D
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14) Which of the following is a disadvantage of outsourcing?

A) It results in high implementation risk.

B) It makes it impossible for the company to ensure a certain level of quality.

C) It could result in the CIO becoming superfluous.

D) It takes up too much management time.

Answer:  C
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15) Although outsourcing does offer the benefit of capping exposure through fixed costs, it also removes the benefits of ________.

A) time saving

B) obtaining expertise

C) risk reduction

D) economies of scale

Answer:  D
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16) Which of the following is a disadvantage of outsourcing services?

A) no easy exit

B) inability to ensure a certain level of quality

C) takes up too much management time

D) high implementation risk

Answer:  A
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17) Which of the following is a disadvantage of outsourcing services?

A) inability to ensure a certain level of quality

B) critical knowledge in minds of vendors, not employees

C) takes up too much management time

D) high implementation risk

Answer:  B
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True or False

1) Just about any business activity in the value chain—from marketing and sales to logistics, manufacturing, and customer service—can be outsourced.

Answer:  TRUE
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2) Outsourcing, by definition, refers to the use of a foreign vendor. 

Answer:  FALSE
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3) IT and IS services cannot be outsourced by a company.

Answer:  FALSE
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4) Some companies choose to outsource to save management time and attention. 

Answer:  TRUE
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5) One of the benefits of outsourcing is that it allows for an easy exit.

Answer:  FALSE
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6) Outsourcing caps financial risk. 

Answer:  TRUE
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7) Due to the benefits of specialization, it is guaranteed that outsourcing will provide a level of quality higher than what could be achieved in-house. 

Answer:  FALSE
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8) Acquiring licensed software is a form of outsourcing. 

Answer:  TRUE
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9) A Web storefront is a form of outsourcing an entire business function. 

Answer:  FALSE
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10) Acquiring licensed software increases costs for all users.

Answer:  FALSE
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11) It is not yet possible to outsource entire business functions.

Answer:  FALSE
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12) In time, there is a risk that the outsource vendor will become the de facto sole source for the company.

Answer:  TRUE
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13) Outsourcing protects companies from a potential loss of intellectual capital. 

Answer:  FALSE

Page Ref: 581

Difficulty:  Easy

Study Question:  Study Question 4

14) Although the fixed cost achieved through outsourcing does cap exposure, it also removes the benefits of economies of scale. 

Answer:  TRUE
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15) Outsourcing can make the CIO superfluous.

Answer:  TRUE
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16) When a company outsources a system, it continues to maintain control over prioritizing the fixing of software failures and problems. 

Answer:  FALSE
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17) The outsource vendor is usually forbidden by the contract to change direction or the management team working with the organization.

Answer:  FALSE
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18) There is no easy exit from an outsourcing agreement.

Answer:  TRUE
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Essay

1) What are the management advantages of outsourcing?

Answer:  First, outsourcing can be an easy way to gain expertise. Outsourcing can be used where developing expertise is expensive and is not in the company's strategic direction or a "front room" activity. Here, the organization might choose to hire a specialist company to perform this service. Another reason for outsourcing is to avoid management problems. Similarly, some companies choose to outsource to save management time and attention. Outsourcing saves both direct and indirect management time.

Page Ref: 579

Difficulty:  Easy

Study Question:  Study Question 2

2) How can outsourcing reduce risk? 

Answer:  One of the ways in which outsourcing reduces risk is by capping financial risk, leading to greater budgetary stability. Outsourcing can also reduce risk by ensuring a certain level of quality, or avoiding the risk of having substandard quality. There is no guarantee that outsourcing will provide a certain level of quality or quality better than could be achieved in-house. However, if that minimum level of quality is not provided, it is easier to hire another vendor than it is to fire and rehire internal staff. Finally, organizations choose to outsource IS in order to reduce implementation risk. Hiring an outside vendor reduces the risk of picking the wrong hardware or the wrong software, using the wrong network protocol, or implementing tax law changes incorrectly. Outsourcing gathers all of these risks into the risk of choosing the right vendor. Once the company has chosen the vendor, further risk management is up to that vendor.
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3) What are the popular outsourcing alternatives?

Answer:  Organizations have found hundreds of different ways to outsource information systems and portions of information systems. Some organizations outsource the acquisition and operation of computer hardware. Outsourcing the computers in a Web farm is one form of such outsourcing. Acquiring licensed software is also a form of outsourcing. Rather than develop the software in-house, an organization licenses it from another vendor. Such licensing allows the software vendor to amortize the cost of software maintenance over all of the users, thus reducing that cost for all users. Another possible outsourcing alternative is to outsource an entire application. In such a solution, the vendor provides hardware, software, data, and some procedures. A Web storefront is another form of application outsourcing. Finally, some organizations choose to outsource an entire business function. Some of these outsource vendors even operate offices within the company facilities. More recently, companies have been outsourcing even larger and more important functions. Such agreements are much broader than outsourcing IS, but information systems are key components of the applications that are outsourced.
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4) Describe in brief the risks related to the loss of control that may result from outsourcing.

Answer:  Some of the loss of control risks are as follows: 

Outsourcing puts the vendor in the driver's seat. Each outsource vendor has methods and procedures for its service that your organization and employees will have to conform to. Also, the outsource vendor chooses the technology that it wants to implement. If the vendor is slow to pick up on a significant new technology, then the hiring organization will be slow to attain benefits from that technology. Another concern is a potential loss of intellectual capital. The company may need to reveal proprietary trade secrets, methods, or procedures to the outsource vendor's employees, and if the vendor moves these employees to competing organizations, the company may lose intellectual capital. Another risk is that all software has failures and problems. When a company outsources a system, it no longer has control over prioritizing those fixes. Other problems are that the outsource vendor may change management, adopt a different strategic direction, or be acquired, thus an outsource vendor that was a good choice at one time may be a bad fit after it changes direction. The final loss-of-control risk is that the company's CIO can become superfluous, because, in time, users learn that it is quicker to deal directly with the outsource vendor, putting the CIO out of the communication loop.
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5) Outsourcing does not offer the hiring company an easy exit from the agreement with the vendor. Why?

Answer:  The hiring company has no easy exit from an outsourcing agreement, because, for one, the outsource vendor's employees have gained significant knowledge of the company. Consequently, lack of knowledge will make it difficult to bring the outsourced service back in-house. Also, because the vendor has become so tightly integrated into the business, parting company can be exceedingly risky. Because of such risk, the company must invest considerable work, duplication of effort, management time, and expense to change to another vendor.
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